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1. Answer any two questions from the following: 4x2 =8
fefeiie @it 7t eives e mes
(a) Why is demand for inputs called derived demand?
(T TP BIfmICs Tgo bifgwl et ¢
(b) What is dead weight loss under monopoly?
GFHHA FRAICE O O 7O FICP 0 2
(c) Does the backward bending labour supply curve imply that leisure is a luxury?
FBIW IG A G @ @2 F e @it [er w1y west fofere 3ea 9
(d) Distinguish between rent and quasi-rent.
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2. Answer any one question from the following: 5x1 =35
fafeiie @-Ie @316 elvas Ted wies
(a) Show that when labour is only variable input the condition that marginal revenue
product equals wages follows from profit maximisation in a competitive market.
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(b) Is there any unique supply curve under monopoly? Explain your answer.
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3. Answer any one question from the following: 12x1 =12
fafeiie @-Ie @316 elvas Ted wies
(a) Explain the concept of Nash equilibrium. Does the duopoly model explained by 4+4+4
Cournot attain a Nash equilibrium? — Explain. Why the firms will not be
willing to play co-operative game strategy in this case?
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(b) Discuss some cases of externalities in production and consumption. 4+8
“Externalities destroy the optimality of the market economy.” — Explain.
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4. Answer any two questions from the following: 4x2 =8
fasfeie - 7 evs Teq wies

(a) Explain the concept of Tobin’s q.
BRCTR “q’ -7 4i=enfs <1 e |

(b) Distinguish between 100% reserve banking and fractional reserve banking.
ojef AT 1T I 6 CARIE T T TR #1207 et TN

(c) How does an individual’s speculative demand curve for money look like?
gFe fed L F6 i bifent @Il [Fwet 2

(d) Discuss two important instruments of monetary policy.
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5. Answer any one question from the following: 5x1 =5
T @-(Fieat @316 etz Teg wiss
(a) Derive Phillips curve from aggregate supply curve.
AT @ @2 (@A Ffersin @t fdize s
(b) Show that the transaction demand for money is interest elastic.
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6. Answer any one question from the following: 12x1 =12
fAfeiie @-Ie @316 elvas Teg wiss
(a) Explain how Permanent Income hypothesis attempts to discuss the short-run
variability and long-run constancy of average propensity to consume.
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(b) Government intervention in the form of fiscal and monetary action is powerless
to affect the economy even in the short run - Explain the statement in terms of
Rational Expectation Theory.
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N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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